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Combined Graduate Level Examination 2020 Tier-I

IRoll Number WWW.exammix.com
Candidate Name

Venue Name

Exam Date 16/08/2021

Exam Time 9:00 AM - 10:00 AM

Subject [Combined Graduate Level Examination 2020 Tier 1

Section : General Intelligence and Reasoning

Q.1 ot fafrse FewraT &, FRENCH’ #1114’ 3R 'LOSS’ ®1 '47' & ®U A geas fwar mar g, ar
Y UTT § 'COURSE’ &1 &t Freas: fnar streem?
Ans o 1.87
< 2.120
< 3.103

X 4.81

Question ID : 81616113724
Status : Answered
Chosen Option: 3

Q2 99 fysed o ooe FTe e vresl & weg a8t Say €, o fag o vrss-gvw & wresl  wew
gl
TR : WTa=T
Ans @ 1. 3EN A
X 2. TeRfere - gARe
< 3. en: faww
X 4. arsfeper . Osh

Question ID : 81616114227
Status : Answered
Chosen Option : 2

Q.3 17 31iteT 2014 B TIE BT HIF-4T fe am?
Ans 1. YEhaN

X 2. guar

¥ 3. TOIN

X 4. ofvar

Question ID : 81616114239
Status : Answered
Chosen Option : 2




WWW,

repp.in

Q4 77 Reey g S Rt we & 3¢ v et 8, R v g ST ugel e @

Ans

Hartra g1
16:144::28:?
o 1.420
X 2.263
< 3.364
X 4.544

Question ID : 81616112719
Status : Answered
Chosen Option : 1

Q.5 fpe S TET3il BT TR RN S5+ 9 fear I Iefteor I g s

Ans

36%x81+9-(88+4)+14+(22+7)=169

7<1.93R36
< 2.813R36
X 3.143R22
o 4.36 3R 14

Question ID : 81616113733
Status : Answered
Chosen Option : 4

Q.6 97wl fywe gA i g 1T vrssi & v sm & quitar & o e o 3 siEieh sregaior § sma

Ans

gl

1. Sorting

2. Solitary

3. Solution

4. Sophisticate
5. Solvent

X 1.2,41,35
% 2.2,3,1,4,5
& 3.2,3,54,1
X 4.2,53,4,1

Question ID : 81616113213
Status : Answered
Chosen Option : 3
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Ans 7

Question ID : 81616114243
Status : Answered
Chosen Option : 3

Q.8 e ar qof-wg fw wm § R @ e vt wigef o v oo § iR e A ows sima 21
T IR qf-HE BT GG B
Ans X 1.RTPO
X 2.LNJI
< 3.DFBA
« 4.FHDB

QuestionID: 81616113214
Status : Answered
Chosen Option : 4

Q.9 gy te+ o Lamyd® sreaa w3 SiR I8 TSAT gH i THA HEAIRIE (?) & I Ux 37
B 82

141613
1867
122117

Ans X 1.6
X 27
X 3.8
& 4.5

Question ID : 81616112721
Status : Answered
Chosen Option: 3
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Q10 A#p FIEF BATITATI
‘A@B BTIAERR BAATAZI
‘A&B HTITERFBAT=TA T
‘A%B HTINEFBITZGTALI
IfE ‘M @R %K#G#N&T' &, <Y Forist & | BI-11 Ho Feg 781 &7
Ans X 1.N, K&l
XK 2. R GH A
X 3. M KarHATEI
o 4 TMBTEETZ|

Question ID : 81616114231
Status : Answered
Chosen Option: 4

Q.11 faw T el # & 98 Hear g <t FrferRaa sj@er # weefere (2) & v+ w s
10, 22, 35, 40, 72, 40, ?
Ans 4 1.133
X 2.131

< 3.143
X 4.134

Question ID : 81616113223
Status : Answered
Chosen Option : 3

Q12 37 3 3@ oo S e A0 F @ F T F TSR O A0 Her
aferar, g, e

Ans

Xa@

Question ID : 81616112731
Status : Answered
Chosen Option: 1
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Q13 Zfy zdor FF MN W T&T F1ar § & BT 71T §a0=a 1 §8 gdur sfafye safas fifEe?

Qe1fP54N

" xN¥adqilteO
- Nhe91 1920
~NhG9Il oD

“UABQIIAD

Question ID : 81616114244
Status : Answered
Chosen Option : 2

Q14 37 Sirdt 7 T9 FY e & 7S ofie P aEel ) ASHET ST S GeaT B

4]

[2

(93 B
At X1 ¥aer B Ak C
X2 Faer A, C 3T D
V3 Faer A 3R C
X4 ogeT C 3R D

u-hf-dml

Question ID : 81616113737
Status : Answered
Chosen Option : 3
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Q15 R aw Reedt & § 77 Ipla T S PTG @ # TeAfuEs (?) & T 9 A
[5]
O
4
Ans
X1 &
*
X2 £ &
X3 |E *|
o 4 |E &

Question ID : 81616113230
Status : Not Answered
Chosen Option : --

Q.16 faw g HT i sl ot oo @ v | Foe & TS TSR B H WA g, WA g
TrITIr ST a2 | R welia 2, FreiRa 3 6 319 | freny ve sl o aifes v

Ans

H SgERUT A §

HY:
a1E ot I, Iratea T 21
Tt Bty wia g

forspe:

1. BIS Y S, eia g &1

Il. B1E W wia, de T &1

. $© i, FRAed g1

Iv. 9t weie, safaa &1
X 1. Fr=he | SR 1| ST STgERIT AR &
X 2. Frspe | R IV ST STgER0 AR §
o 3. Fact Frepy Il STTERT HAT B
X 4. Fad F=pY | STTERUT HRAT B

Question ID : 81616112717
Status : Answered
Chosen Option: 3
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Q.17 g farsrea g7 R Heamd us TR & S aiE & Hatva § 9 e g e de 9 send
TF TR A et g

(6,9, 45)
Ans  «# 1.(8,10,36)
X 2.(2,8,46)
X 3.(6,8,60)
5 4.(7,4,48)

Question ID : 81616113732
Status : Answered
Chosen Option : 1

Q.18 31 & I HAISTT BT T B ol & 7$ fretr & R w1 # 6P o0 & T& o1 0
@ B YU B
UA_B_TU_CBD__ACB_TUAC__T
Ans X 1.C,D,AT,U,D,C,D
X 2.C,D,AU,U,D,B,D
« 3.C.DATUDBD
X 4.D,C,ATU,D,D,B

Question ID : 81616114230
Status : Answered
Chosen Option : 3

0 gk s et P 82

Ans  X1.18
X215
X316
417

Question ID: 81616113736
Status : Answered
Chosen Option : 4
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Q.20 = =R vreg g 71w & R & i Rl Wil & e o sl oo A T s 1 5
STHIT 9165 BT I B |

Ans X 1.318

X 28w

X 3. 3=t

o 4 TR

Question ID : 81616113720
Status : Answered
Chosen Option : 4

Q.21 = ar wEr-gw fag 1 § R & e el el # v e € sl oo 9w s 1
T S -G HT I R

Ans o 1.15:197

X 2.27:181

X 3.25:167

X 4.21:139

Question ID : 81616113730
Status : Not Answered
Chosen Option : --

Q.22 7 faeea g7 o feR 7reg & i S TR @ Waft B, M s e s e v @
Haftra §
ufxat . @gEsTEe : : 9o ?
Ans . 1. gg BT
5 2. hoRd
X 3. R BT

X 4. grguEe

Question ID: 81616113216
Status : Answered
Chosen Option: 1

Q.23 g Ty Rywedl # & 98 9ui-wgg g o FreifeRae sj@er § aeaire (?) & w9 uR Sem?
THME, WKJB, ZNGY, CQDV, ?
Ans X 1.FTBS
< 2.FTAR
< 3.FUAS
o 4. FTAS

Question ID : 81616114222
Status : Answered
Chosen Option : 4
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Q.24 fp<h faf¥re FeuraT & PRINT &I 'YMNIU' & & & forar Sirar § | & S 4er § ‘MAGIC’ @t
Y forar sIreem?

Ans X 1.HRLRZ
7< 2. HLDRV
" 3. HRLZR
7< 4.HDLVR

Question ID : 81616112713
Status : Answered
Chosen Option : 3

Q25 ry sl 3 Forst & vH g W ASA F FH AT 3T G G ST B FEd B Al guiar
AT §| TH FETA & Wiee 9 9g Sar fegen?

Ans

x1. |

Question ID : 81616114245
Status : Answered
Chosen Option : 4

Section : General Awareness
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Q.1 IR & fre 3T HT Herer g@r I (Rbvew) &2

Ans

X 15
X 2. =
X 3.a
o 4. BT

Question ID : 81616112736
Status : Answered
Chosen Option : 4

Q.2 e dfrem &1 e 3 & 3i9-91 ST U o094 (GST) uRug & wRumu=r & Hafta

Ans

4

X 1. 3Tg=0T 323A
X 2. 3TTTT 246A
o 3. 3TT=0T 279A
X 4. 30T 269A

Question ID : 81616113760
Status : Answered
Chosen Option: 3

Q3 FeMFI@EABAA_TolawH e Tl

Ans

< 1. df=r
K 2.3

K 3.
o 4. 9T

Question ID : 81616114255
Status : Answered
Chosen Option : 2

Q4 WRaIAR_ #2020 & ez U, 317E. Y. (FIDE) vt Siieifrars &7 6w forer

Ans

it fopar = i

X 1. HgH I AR
X 2. afdar

o 3.9

X 4. et

Question ID : 81616112753
Status : Answered
Chosen Option : 3
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Q.5 SPER el & ARl S edva gRT___ SR @ar
Ans X 1. yf¥r 3RS

< 2. AgTENN wrfeat

& 3. TddT ExETait

X 4 AT RN $edh

Question ID : 81616113248
Status : Answered
Chosen Option : 3

Q.6 for=r & 9 Fpey It wifer & < Forosil Y sraemom &1 S fmm srar #2
Ans X 1. dhferar A

X 2. 3MESIE e

X 3. 3mrame

o 4. SIEE U

Question ID: 81616113748
Status : Answered
Chosen Option : 4

Q.7 1947 ¥ Fexransg #1 e o F S e am
Ans 1. ST 3Tl

X 2. ¥R AgqY 3Tl @

X 3. AR s

X 4. 3THeEX 3Tl @

Question ID : 81616112744
Status : Answered
Chosen Option : 2

Q.8 e S SFCUIST FIeTT FTE?
Ans X 1. g WTE THEHOT ST HI {61 & B & W0 Bfedd HIarg |
o 2. 9% & QT g Y Seuet e g, Ford o SR g Sge A e g Had g |
X 3. g yTTaRoT & TRy iy & e & forg wenfivast 1 g avE & uReum T #Y srerar ar
2l
7< 4. Ig UITaRoT B BET R aeil I frsrT @Y Terar g, i are # 39 St prar g1

Question ID : 81616113745
Status : Answered
Chosen Option : 3




WWW;p

Ans

repp.in
Q.9 forer A T o e e 8 R T 2

X 1. aga A
7< 2. fETaT
& 3. 71T

5 4. SUcteerdr

Question ID : 81616114249
Status : Answered
Chosen Option: 1

Ans

Q.10 frr F & Hiv & T 9 Y 7€ & $oTE Fad e &7

75 1. Brorhrar

< 2. gueTarg
o 3. T
X 4. ger

Question ID : 81616114257
Status : Answered
Chosen Option: 3

Ans

&

o 1. THEE IET
X 2. sreur iy
X 3. afer g
K 4. TERT

Q.11 for & | $19 ‘SHshe 3R f$de™d' (Democrats and Dissenters) & YT & orEd/ARa®T

Question ID : 81616114264
Status : Answered
Chosen Option: 1

Ans

Q.12 FoReR™ gRT I fra § § Fiv W gwas oy fvg-avg S waftm 2

& 1. IS
7 2. drewRy
X 3. T
X 4. AlehriorEs

Question ID : 81616113755
Status : Answered
Chosen Option : 1
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Q.13 vt 2021 3 e s i e e R R <@g i R S A
Sirg arelt fpaeit 21 BT YT fomar T o

Ans X 1. gfer
o 2. 3T
& 3.9
< 4.9%

Question ID : 81616114270
Status : Answered
Chosen Option : 2

Q.14 Srad 2021 ¥ forey F & for o & Y@qd ST, ATAT WIS BT fee gam
Ans 2 1. STBUTRICT TS TT

< 2. Tram

X 3. 3TRIES

X 4. STRURY

Question ID : 81616113253
Status : Answered
Chosen Option : 3

Q.15 3ol offr WX R wERM Aot gt WReR &7 AR /T o
Ans X 1. TR I

X 2. & AgIe

7< 3. T golRd wgel

o 4. WIhTST BTHT

Question ID : 81616112747
Status : Answered
Chosen Option: 1

Q.16 for & A Pl ¥ A v Uit & T e F2
Ans X 1.

o 2. e

< 3. e

X 4. 9en

Question ID : 81616113242
Status : Answered
Chosen Option : 2
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Q17 orer & -0 orer & gerereier R 2

Ans

X 1. e K
X 2. fef=D
o 3. T c
X 4 faefm A

Question ID : 81616112739
Status : Answered
Chosen Option : 3

Q.18 HEHHTAN HRA-STATRS agHen & ¥ 3 ‘s’ (Pishtaq) F7 1 37ef F?

Ans

X 1. U

X 2.9es

o 3. T TEA9TER

X 4. 3T (arsifere Agre)

Question ID : 81616113743
Status : Answered
Chosen Option : 2

Q.19 guyuil & TR, W fesy 3 areft F gaft g5 gt Sy e S g ____ 1 wu = e

Ans

X 1. uH gl
o 2. TH g
X 3. uwfag
K 4. TR S

Question ID: 81616114261
Status : Answered
Chosen Option : 2

Q.20 S 2021 F et F A A Selirgfrbeia Hect ew Ifeam e & srexet wd ey

Ans

Fraere & wu  forgen forar mam
X 1.l pER
X 2. fodx g
X 3. Txasita Rig |y
o 4. Toa HIAR

Question ID : 81616113261
Status : Answered
Chosen Option: 4
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Q.21 yRa A TSI FiferenT feaw s F9™—T ST 2
Ans X 1129

X 2.9 fadeR

o 3. 24 SR

X 4.55F

Question ID : 81616113259
Status : Answered
Chosen Option : 3

Q.22 f= § ¥ B YRA F suRrgufy Ffr A a2 &2
Ans o 1. TTeTSTNIETTeT HaT

X 2. @ filR

X 3. e

X 4 e gda

Question ID : 81616114266
Status : Answered
Chosen Option : 3

Q.23 quieH frepTe St uREsT e 3 § fre Ia F Rea &2
Ans g1 TIRIES

X 2. e

X 3.5 IR FER

X 4. T yeer

Question ID : 81616113751
Status : Answered
Chosen Option: 1

Q.24 ‘HreTH-3e, FACH IR TEH ____ e i
Ans @ 1. T el

X 2. gfct Fer

< 3. g B

X 4. R wer

Question ID : 81616112732
Status : Answered
Chosen Option : 2
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Q.25 =i v R A S fPa @e @ Seita 27

Ans

X 1. g g
X 2. arer
o 3. frhe
X 4. Ty

Question ID : 81616113257
Status : Answered
Chosen Option: 3

Section : Quantitative Aptitude

Q.1

Ans

forelt =7 @1 1246.80 F F= W WA oNH, TEG #3216 F q= W A T @ Hr A F 20%
% ¥ ofy axg # 3220.75 & ¥ Sew 7, & widuw Aty (Reean qois aF) w1 w7

X1 7%

v 2 gifer 4%

X3 o 3%

X+ gifer 5%

Question ID : 81616113267
Status : Answered
Chosen Option : 2

Q2 AABC#, 2£A =90°, fig D W AD L BC ¥ TR AB = 12 cm 3R AC = 16 cm ¥, & BD & #arg

Ans

(em #) FF X
X164
2 72
X3 8.4
X478

Question ID : 81616114289
Status : Answered
Chosen Option : 2

Q.3 uF e, gge 75 km 1 2l v RS tewAE 9w @ a7 FEr ¥ sk s 90 km A g
TR TF F 10 kmh siF g e s o FRT G IR IR W RI A 3 82 F

Ans

THT AT &, o HEET T T TE F 300 km F S F7 F= F o gET Feem?

X1 5 e 25 fAee
X2 5 ge 15 e
3 6 g
X4 5 gy

QuestionID : 81616112766
Status : Answered
Chosen Option : 4
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Q.4 22 mwmmst @ stEE 37.5 ¥ wwEr 12 et F sitea 406 ¥ i fAw 12 wemmst @ siee 354

¥ o 115 3 128 TEw = Tew G =T & 9w gt = ostes wE S

Ans X1.37.8
<2 36.4
X3 374
+ 4 36.9

Question ID : 81616114274
Status : Answered
Chosen Option : 2

Q5 Ffr 6-3t% arer TEAT 5x423y, 88 T = ¥, A (5x — 8y) F AT AT FHI

Ans 5 1. 14

X216

X3 28

v 4 24

Question ID : 81616113767
Status : Answered
Chosen Option : 4

Q.6

cosec 8 — cot @

Ans 1

* 152

XK 2.

3.

cosec 8 + cot @ 4 s5in® 8 -1
e Wt

4 5in® 8 +5

FT AT AT FLI

Question ID : 81616113281
Status : Answered
Chosen Option: 3
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I AT F WA FT g §
T |sem @ |mew =
EGGE 35,000 38,500 29,000 42,000
of@ET 6,000 6,300 5,000 7.500
Eicee] 1,000 1,100 1,000 1,240
3ateEa| 1,800 | 1,950 1,400 | 1,500

Ans X 1.1.4%
<2 15%
+ 3 1.6%
X4 1.2%

AT T Foor e & g ofiaw, fafaw sl weor e & g o @ e i w9 82

Q.7 &= & 72 @, 2020 F BER 79 F e & 99 F IR FAE 9w e 3w @ A7) 3R

Question ID : 81616112478
Status : Answered
Chosen Option: 3

Ans X 1. 462
v 2 616
X3 924
X 4. 660

Q8 784 am? EGE AT T F HATNMT g F ATHA (om? F) AW H (1=27)

Question ID : 81616114282
Status : Answered
Chosen Option : 2

Ans o g 273
X2 343
X3 24/5
« 4 +f5

Q9 Zfr 3c0s?f—4sinf+1=0,00<8<90°%, A tand +secd = fFaar gremw?

Question ID : 81616113785
Status : Not Answered
Chosen Option : --
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Q.10 & =1 aifereT &7 srewas &t Ak v 7 e £

A, B, C, D 3R E 9w FruE! # suEwiis wedwA (VC) & T amifea oEr &

=T
¥

HEUT 2013 2014 2015 2016 2017 2018
A 120 135 130 135 128 140
B 125 132 138 132 135 142
£ 125 120 125 138 140 135
D 100 125 122 140 128 138
E 105 110 115 147 130 145

2013, 2014 3R 2017 & Fvuw C # VC ¥ v Fwfed $& o #1 wean, 2018 # Wi 9= wvuwt

# AR T B Fo FEW F A v

Ans 1 B3
X2 58§
X3 62
+ 4 55

Question ID : 81616114093
Status : Not Answered
Chosen Option : --

Q.11 O &z =r% 307 &, =W AB 3T 31 CD 5% wa ¥ B £ ABC = 34° 3 CD = BD #1 < DBC #r

AT FIE
ans g1 280
X2 24°
X3 30°
<4 32¢

Question ID : 81616114286
Status : Not Answered
Chosen Option : --
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Q.12 & =& aifeeT & sewas &1 v W 7 e £

A, B, C, D 3T E 9w Fru=t # suEwiie TegwAr (VC) & B amifea ot

ol
s

TEUTT 2013 2014 2015 20186 2017 2018
A 120 135 130 135 128 140

B 125 132 138 132 135 142

5 125 120 128 138 140 135

D 100 125 122 140 128 138

E 105 110 115 147 130 145

2016 & wewe A, C 3 E # VC & R amfea ol & $ vewm it 2018 F srymr B sk D #
FATRS T A T FEA F AN 7 F

Ans X1.8:7
xX221:19
3 3:2
X414 : 9

Question ID : 81616114091
Status : Not Answered
Chosen Option : --

OB afr a3+ b3 =4053a+b=9% I abF AT AT FI
Ans w112

X210

X3 15

<48

Question ID : 81616113273
Status : Answered
Chosen Option : 1

Q1 B AT T0=26 13 % 7

.  FTHAT AT FHL

Ans X141
v 2 11
X312
x4 27

Question ID: 81616113263
Status : Answered
Chosen Option : 2
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Q.15 A &r 3w, B & 30 & 30% & & 3 B 1 3w C & 30 & 137.5% o § o A S awma B @
3T F 728,500 FH &, O C F a3y @ #H) 7 F

AnsX1. 36,000
< 2. 50,000
+ 3 40,000
< 448,000

Question ID : 81616113771
Status : Not Answered
Chosen Option : --

Q16 gfr x+y+z=2 3 xy+yz+zx=—11%8, a x® +y* +2° — 3xyz & AT 7 2
as 1. 78

X2 69

X3 71

v 4 74

Question ID : 81616113780
Status : Answered
Chosen Option : 4

Q.17 7,500 Fr Tfr 10% == Twgfe =@ X W v FRTa g77 & 79,075 & e &) 33 =X &, =%r
Tfr o7 39 e F 9roa Aurer sme € #) 79 &4

Ans 1. 1,530
v 2 1,500
X3 1,480
x4 1,520

Question ID : 81616113774
Status : Answered
Chosen Option : 2
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Q.18 &y &r a1 arfdr, 2016 ¥ 2020 &% =X ol F =T 1w 9= fr gEr g §
af [ddine | sfeHardie |0 | dididl

2016 1800 2500 1800 2000
2017 | 2500 2300 1850 1800
2018| 2300 2400 1840 1760
2019| 2440 1950 1900 1600
2020 2250 2100 2000 1750

2016 ¥ 2020 T, qUT H FMT ¢ Yt F A # 3gAGER # o 93 3w e v
Ans 1. 1850

< 22000

X3 2340

« 4 1860

Question ID : 81616112476
Status : Answered
Chosen Option : 4

Q.19 0 7 3w 5 cm Tr=ar 1 39 &, 4B HR CD, F: 6 cm HT x cm TS ¥ & FAAET A= F
T oFH TR A T sfa R gl 7cm &1 « AR I9 FY

Ans 1. g
X210
X312
4 8

Question ID : 81616113782
Status : Answered
Chosen Option : 4

%20 1 4 2tan?0 + 2sinfsec 8,0° < 6 < 90°, T AT FT FI
Al

ns x 1 1+cos @

1—cos @

i—cosé@

1+cos@

x 2.

1+sin &
1—sin &

3.

1—sin @
1+sin @

x 4

Question ID : 81616113787
Status : Answered
Chosen Option : 3




WWW,

prepp-in

Q21 A v 77 #7115 RF & & 51 #1 B, A ¥ 25% 0w T2 ¥l oW 7 4 R oF v @y 79

fram v w1 # C F 8 e F 7w B A, B 3t C e 39 w9 # Faw RE § U oW
&

x1.6% o=
x2 4> &=
X3 4 &=
V4 5 ﬁ;r

Ans

Question ID : 81616113775
Status : Answered
Chosen Option: 4

Q.22 20%, 10% ¥ k% F1 &7 T & F 71, 10,000 3ifFa 7ew Tk g &1 o 7@ 36,120 31 7R
3W T/ W (k + 20)% F v ge & Fv, & 3@ ST 75a (3 A) A9

Ans - x1. 8,500
+ 2 6,500
<3 8,000
x4 6,800

Question ID : 81616112760
Status : Answered
Chosen Option : 2

Q.23 ws A AR 3EH 38 H TAAW 3G F OIS 7 0 1§15 9§ @ T Hegea 4 ¢ 1 @ Sweem| sewh
A I H He (@ H) Fg F:

Ans - X131
X2 29
3 30
x4 28

Question ID : 81616112763
Status : Answered
Chosen Option : 3

Q24 ipc & & @on, 2B HR 2C F AN TARSTANTSH & AT FOT F AT 132°F1 L4 F AF A
Exdl

Ans X 1. 790
<2 48°
3. 84°
X4 [20

Question ID : 81616113278
Status : Answered
Chosen Option : 3
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Q.25 3

81 "
e (Zx _E) = 2%,?—#(16;:4 + F)mrmsnr—r#l
Ans 1. 184
X2 328
X3 220
x4 180

Question ID : 81616112769
Status : Answered
Chosen Option: 1

Section : English Comprehension

Q.1 The following sentence has been divided into parts. One of them contains an error. Select
the part that contains the error from the given options.

It have been only / through writing / that men have been able / to spread their ideas to
mankind.

Ans X 1.that men have been able
#5 2. to spread their ideas to mankind
«# 3. It have been only
< 4. through writing

Question ID : 81616113793
Status : Answered
Chosen Option: 3

Q.2 Select the most appropriate ANTONYM of the given word.
Toxic
Ans X 1.Lethal
#5 2. Venomous
#5< 3. Harmful
" 4. Healthy

Question ID : 81616112799
Status : Answered
Chosen Option : 4
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Q.3 Sentences of a paragraph are given below in jumbled order. Arrange the sentences in the
right order to form a meaningful and coherent paragraph.

A. Then | took him by the hand and led him across the street.

B. | was going to the market when | saw a blind man trying to cross the street.
C. He expressed his gratitude with folded hands.

D. | walked across to the blind man.

Ans o 1.BDAC
< 2.CBDA
< 3.DABC
7< 4. ABCD

Question ID : 81616112795
Status : Answered
Chosen Option : 1

Q.4 Select the most appropriate option to substitute the underlined segment in the given
sentence. If no substitution is required, select ‘No substitution’.

The place is too much noisy.
Ans X 1. No substitution
w# 2.1t00 noisy
< 3. much noisy

25 4. much too much noisy

Question ID : 81616113796
Status : Answered
Chosen Option: 1

Q.5 Select the most appropriate option to fill in the blank.

A souvenir will be released on the occasion of the World Meet.

Ans 4 1.voluminous
25 2. considerable
#< 3. generous
25 4. bountiful

Question ID : 81616114322
Status : Answered
Chosen Option: 1

Q.6 Select the INCORRECTLY spelt word.
Ans X 1. Anxious

5 2. Moisture
< 3. Mimic
" 4. Vishious

Question ID : 81616113309
Status : Answered
Chosen Option: 4
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Q.7 Select the most appropriate synonym of the given word.

Numerous
Ans X 1.Numbered
& 2. Few
< 3. Totalled
" 4. Several

Question ID : 81616114311
Status : Answered
Chosen Option : 4

Q.8 Select the option that can be used as a one-word substitute for the given group of words.
A large building with an extensive floor area, typically for housing aircraft
Ans X 1.Barn
«# 2. Hangar
< 3. Shed
25 4. Airport

QuestionID: 81616113812
Status : Answered
Chosen Option : 2

Q.9 Sentences of a paragraph are given below in jumbled order. Arrange the sentences in the
right order to form a meaningful and coherent paragraph.

A. This invention has helped us to heal wounds caused by bacteria.

B. Penicillin is one of the most useful drugs man has invented.

C. In the beginning however, very few people knew of this discovery and its use.
D. Its use has saved the lives of hundreds of thousands of soldiers.

Ans X 1.DCBA
& 2. BADC
7< 3.ABCD
7< 4.CABD

Question ID : 81616113299
Status : Answered
Chosen Option : 2

Q.10 Select the most appropriate ANTONYM of the given word.

Invade
Ans 4 1. Surrender

7< 2. Seize
#5 3. Attack
5 4. Assault

Question ID : 81616113303
Status : Answered
Chosen Option : 1
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Q.11 Select the most appropriate meaning of the given idiom.

Full of beans
Ans & 1. Full of energy

#< 2. A dish made of French beans
#< 3. Full of cowardice

< 4. A storeroom full of vegetables

Question ID : 81616112801
Status : Answered
Chosen Option: 1

Q.12 Select the most appropriate synonym of the given word.
Transmit
Ans X 1. Accept
< 2. Receive
" 3. Convey
& 4. Catch

QuestionID: 81616114312
Status : Answered
Chosen Option: 3

Q.13 Select the most appropriate meaning of the given idiom.
To cut a long story short
Ans & 1. Tell something briefly
#< 2. Like to tell long stories
25 3. Like to tell short stories

< 4. Tell something in a roundabout way

Question ID : 81616112800
Status : Answered
Chosen Option: 1

Q.14 The following sentence has been divided into parts. One of them contains an error. Select
the part that contains the error from the given options.

The Principal requested / the teacher’s / to monitor / and take care of the small children.
Ans X 1. The Principal requested
" 2. the teacher’s
#< 3. and take care of the small children

#5 4. to monitor

Question ID : 81616112782
Status : Answered
Chosen Option : 2
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Q.15 Select the option that will improve the underlined part of the sentence. In case no
improvement is needed, select 'No improvement required'.

| wish | have come an hour sooner.
Ans X 1.has

25 2. will
" 3. had

< 4. No improvement required

Question ID : 81616114302
Status : Answered
Chosen Option: 3

Q.16 Select the option that expresses the given sentence in passive voice.

Someone stole his traveller's cheques when he was travelling in Europe.

Ans X 1.Someone had been stole his traveller's cheques when he was travelling in Europe.
#5 2. His traveller's cheques are stole when he was travelling in Europe.
#< 3. His traveller's cheques was stole when he was travelling in Europe.

" 4. His traveller's cheques were stolen when he was travelling in Europe.

Question ID : 81616113794
Status : Answered
Chosen Option : 4

Q.17 Select the option that can be used as a one-word substitute for the given group of words.

A person who listens to someone’s private conversation without them knowing
Ans X 1. Secret agent

#< 2.Spy
4" 3. Eavesdropper
25 4. Infiltrator

Question ID: 81616113813
Status : Answered
Chosen Option: 3

Q.18 Select the INCORRECTLY spelt word.
Ans X 1.Cerebral

< 2. Scrutinize
" 3. Withdrawl
X 4. Arbitrary

Question ID : 81616113310
Status : Answered
Chosen Option : 2
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Q.19 Select the most appropriate option to fill in the blank.

Ans

You need not so much fuss about wearing a mask when you go out.

5 1. generate

« 2. make

< 3.do
< 4. cause

Question ID: 81616113816
Status : Answered
Chosen Option : 2

Q.20 Select the option that expresses the given sentence in reported speech.

Ans

"Whom did you see at the shopping mall today?” | asked my daughter.
75 1. 1 asked my daughter that whom did she saw at the shopping mall that day.

75 2.1 asked my daughter who she has seen at the shopping mall today.
#5< 3. asked my daughter that whom she saw at the shopping mall on that day.

" 4.1 asked my daughter whom she had seen at the shopping mall that day.

Question ID : 81616114300
Status : Answered
Chosen Option : 4

Comprehension:

In the following passage, some words have been deleted. Fill in the blanks with the help of the
alternatives given. Select the most appropriate option for each blank.

It is true that the more you study, the more you (1) your horizon and hence your point of
view undergoes a (2) . A person with higher education certainly has a better (3)____
and ideas to help in community and societal (4) . Ideas that are gathered from such
people provide a global (5) for the nation as a whole.

SubQuestion No : 21

Q.21 Select the most appropriate option to fill in blank number 1.

Ans

" 1. expand
< 2. narrow
5 3. exchange
< 4. convert

Question ID : 81616113294

Status : Answered

Chosen Option: 1




WWW,

anb

Q.22
Ans

Comprehension:

In the following passage, some words have been deleted. Fill in the blanks with the help of the
alternatives given. Select the most appropriate option for each blank.

It is true that the more you study, the more you (1) your horizon and hence your point of
view undergoes a (2) . A person with higher education certainly has a better (3)
and ideas to help in community and societal (4) . Ideas that are gathered from such
people provide a global (5) for the nation as a whole.

SubQuestion No : 22
Select the most appropriate option to fill in blank number 2.
#< 1. backwardness

#< 2. succession
o 3. transformation

5 4. enlargement

Question ID : 81616113295
Status : Answered
Chosen Option : 2

Q.23
Ans

Comprehension:

In the following passage, some words have been deleted. Fill in the blanks with the help of the
alternatives given. Select the most appropriate option for each blank.

It is true that the more you study, the more you (1) your horizon and hence your point of
view undergoes a (2) . A person with higher education certainly has a better (3)___
and ideas to help in community and societal (4) . Ideas that are gathered from such
people provide a global (5) for the nation as a whole.

SubQuestion No : 23
Select the most appropriate option to fill in blank number 3.
5 1. routine

«¥ 2. outlook
25 3. luck

< 4. scope

Question ID : 81616113296
Status : Answered
Chosen Option : 2
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Comprehension:

In the following passage, some words have been deleted. Fill in the blanks with the help of the
alternatives given. Select the most appropriate option for each blank.

It is true that the more you study, the more you (1) your horizon and hence your point of
view undergoes a (2) . A person with higher education certainly has a better (3)
and ideas to help in community and societal (4) . Ideas that are gathered from such
people provide a global (5) for the nation as a whole.

SubQuestion No : 24

Q.24 Select the most appropriate option to fill in blank number 4.
Ans X 1. maturity
#< 2. elaboration
o« 3. development
25 4. ripening
Question ID : 81616113297
Status : Answered
Chosen Option : 3
Comprehension:
In the following passage, some words have been deleted. Fill in the blanks with the help of the
alternatives given. Select the most appropriate option for each blank.
It is true that the more you study, the more you (1) your horizon and hence your point of
view undergoes a (2) . A person with higher education certainly has a better (3)___
and ideas to help in community and societal (4) . Ideas that are gathered from such
people provide a global (5) for the nation as a whole.
SubQuestion No : 25
Q.25 Select the most appropriate option to fill in blank number 5.
Ans X 1. prejudice

5 2. posture
¥ 3. perspective
< 4. proportion

Question ID : 81616113298
Status : Answered
Chosen Option: 3




